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Economics
Major Elective — INDUSTRIAL ECONOMICS

(For those who joined in July 2020 only)

Time : Three hours Maximum : 756 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.
Choose the correct answer !

1.  Factors of industrialisation
(a) Natural resources
(b) Labour supply
(¢) Technology
(d) All the above

Capital productivity =

(a) Net output / net capital employed

(b) Net capital employed / net output

(¢) Fixed cost + variable cost

(d) Variable cost / price

Weber used the ‘location triangle’ of Launhardt to
find the place of minimum

(a) cost
(¢) price
There are
(a) four
(¢) six

(b) transport cost
(d) profit
industrial regions in India.
(b) three
(d) five

ICICI was established in the year

(a) 1955
(c) 1991
There are
India.

(a) b

() 6

(b) 1972
(d) 1996

state financial corporations in

(b) 12
(d 18
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The cotton textile industry is suffering from PART B — (5 x 5 = 25 marks)

inflation.

; : Answer ALL questions choosing either (a) or (b). |
S (b) savings Each answer should not exceed 250 words. ;
(DS o (d) s protit 11. (a) Define industrialisation. State the factor of

e, ¥ i ialisation.
The jute industry entirely depends on indugirialisgtion
(a) imports Or
(b) exports I (b) Write a note on capital productivity.
(Cl) v ooRieghicmaror 12. (a) Mention the technical factors determining

(d) none of these industrial location.

Under the industrial policy resolution, 1956, Or

industries were classified into ———— categories.
(b) Explain the Renner's theory of industrial

(a) two (b) four location.
(c) le. (d) three 13. (a) Point out the role of commercial banks in

] : industrial development.
A new industrial policy for small enterprises and
tiny enterprises was announced by the Or
Government of India in the year

(b) List the problems of industrial finance in

(a) 1991 b) 1995
India.

() 1948 (d) 2012
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Narrate how the problems of industrial
labour affects industrial development.

14. (a)

Or

(b) Inadequate availability of raw materials and

infrastructure prevents industrial

development - Discuss.
State the main features of industrial policy,
1948.

15. (a)

Or

(b) Explain the main features of industrial
policy, 1970.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (a) Assess the importance of industrial
development.
Or
(b) Describe the factors affecting

industrialisation.
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17.

18.

19.

20.

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

Elaborate the economic and infrastructure
factors determining industrial location.

Or

Discuss the market area theory of tord

plander.

What are the various internal and external
sources of industrial finance?

Or

Indicate the objectives and functions of ICICI.

State the problems of cement industries.

Or

Trace the problems of modern industries.

Evaluate the industrial policy resolution of
1977. .

Or

Appraise the main objectives of industrial
policy resolution, 1991,
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